
END VIEW
COVER REMOVED

PARTS LIST
QTYDESCRIPTIONDWGPART#ITEM

1ELECTRONICS ASSY MSD SENSOR NEWER STYLE 200501731
150 Segment DiskA0050031200501792
2#8 STANDOFFS X 1" LONG 220110033
1NA103/2-242 BUNA-N O-RING UL CONTROLLED PART 220110154
24-40 X 5/16 RHMS Z/P 200510825
28-32 X 3/8" ROUND HEAD SCREW 220110046
4#8 INT TOOTH LOCK WASHER Z/P 202034087
2#4 INT. TOOTH LOCKWASHER Z/P 200534078
2#12 LPE CAP PLUG 220185089
1REGULAR BASE ASSEMBLY FOR MOTION SWITCH (ALUM.)D02001572020014810
1MACHINED (ALUM) COVER FOR CMSD02000852020012411
1NAMEPLATE: MSD-1 SENSORA09800252098002212
1Shaft Key 3/16 SQUARE X 1"AS2000022020511713

+12 VDC

SIGNALGROUND

SHEET 1  OF 1 

DRAWN

CHECKED

APPROVED

GL

JK

3/18/2008

8/12/2014

DWG NO

D0050052.dwg

TITLE

MSD-1 ASSEMBLY

SIZE

D
SCALE

REV

B

Conveyor Components Company
Division of Material Control, Inc.

130 Seltzer Road, Croswell, Michigan 48422 U.S.A.

Drawing is computer generated, and print might not be to scale

JK

THIS PRINT IS PROPERTY 
OF CONVEYOR 
COMPONENTS CO., AND 
MAY NOT BE USED IN 
WHOLE OR PART WITHOUT
WRITTEN PERMISSION.

PART
MSD-1

3/19/2008

REV ECO DESCRIPTION DATE BY APPD
B 0010c UPDATE DRAWING REFERENCE 8/12/2014 GL JK

1.34 [34 mm]

2.00 [51 mm]

1.25 [32 mm]

1.25 [32 mm]

0.81 [20 mm]

1.38 [35 mm]

0.31 [8 mm]
4 HOLES

Ø4.75 [121 mm]

13 10 9 11

2

1

3 7 67

12

4

85

DIMS SHOWN ARE FOR REFERENCE.

7.28 [185 mm]

MARK MO/YR WHEN
ASSEMBLED, AND FOR
REPLACEMENT ELECTRONICS.

B


